LESSON PRACTICE

Build, match, write, and say. The first one has been done for you.
Turn your book sideways to complete this.
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LESSON PRACTICE 9A

Build, write, and say.

120

5.

11.

13.

14.

9 6. 9
+ 9 +
8.
+ 2 +
9+6= 10. 1+9-=
9+4-= 12. 9+ 8=

Nine boys were playing ball. Seven more joined them.
How many boys are playing ball now?

P+ /=

Tim read 9 books during the first week of his vacation.
The second week he read 9 more. How many books did he
read in all?

+ =
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LESSON PRACTICE

Build, match, write, and say. Turn your book sideways to complete this.
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LESSON PRACTICE 9B

Build, write, and say.

5. 9 6. 9
+ 8 +

7 9 8. 9
+ 7/ + |

9. 5+9= 10. 0+9 =

11. 9+3 = 12. 9+9 =

13. Peter had nine little block sets. He got six more sets for
Christmas. How many sets does he have now?

+ =

14. David had 3 CDs. If he bought 9 more, how many CDs
would he have in all?

+ =
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LESSON PRACTICE

Build, match, write, and say. Turn your book sideways to complete this.

+
+
+
4

CITTTTTT T O0000

CTTTTTTTT T O0O00800
(ITTTTTTTTT OO0

[(TTTTTTTTT 0008000008

CITTTTT T +0O0800

LT T T T T T +O000080
I T T T T T +0O0000000008

I TTT T T T +O00000008

1
2
3.
4

ALPHA LESSON PRACTICE 9C 123



LESSON PRACTICE 9C

Build, write, and say.

5. / 6.
+ 9 + 8
7 8. q
+ 2 + 4
9. 6+9= 10. 9+3 =
11. 9+9 = 12. 9+0-=

13. Julia ate 9 candies, and then she ate 5 more. How many
candies did she eat in all?

+ =

14. Christie’s dog had nine puppies. How many dogs in all
does Christie have now?

+ =
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SYSTEMATIC REVIEW

Solve.

1. q 2. 5
+ 9 + 2

3 40O 4 9
+ |0 + 7/

5. 200 6.
+ 200 + 9

7 | 8. q
+ 6 +

9. 9+0=__ 10. 8+49=__

11. 7+2=___ 12. 9+1=__
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SYSTEMATIC REVIEW 9D

Solve for the unknown. Use the blocks if needed.

13. +4 =13 14. +2=6
Build and say the number.
15. 461

Skip count by 10 and write the numbers.

16. 10, , , , : , , 80,

17. James is 8 years old. How old will he be in 9 more years?

18. Seven guests have been served either milk or juice. Six are
drinking juice. How many are drinking milk?

+ 6 =/
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SYSTEMATIC REVIEW

Solve.
1. q 2.
+ 3 + 9
3 60 4 O
+ 20 + 4
5 6.
+ +
7. 8 8. 300
+ 2 + 100
9. 5+9=__ 10. 2+4=__
11. 9+5=_ 12. 1+7=___
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SYSTEMATIC REVIEW 9E

Solve for the unknown. Use the blocks if needed.

13. +8=17 14. +5=7
Build and say the number.
15. 249

Skip count by 10 and write the numbers.

16. , 20, : , : , , , 90,

17. 1 have saved 9 dollars for a gift that costs 12 dollars. How
many more dollars do | need to save?

18. Dave called his friend 4 times on Monday and 2 times on
Tuesday. How many calls did he make those two days?

On Wednesday, Dave made 9 more calls. How many calls
did he make in all?
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SYSTEMATIC REVIEW

Solve.

1. g 2. 9
+ 9 +

3 4 &0
+ + |0

5 0O 6
+ 0 +

7 8 10
+ 2 + 50

9. 9+4 = 10. 2+9=

11. 2+7= 12. 9+5 =
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SYSTEMATIC REVIEW 9F

Solve for the unknown. Use the blocks if needed.

13. +9=15 14. +3=5
Build and say the number.
15. 52

Skip count by 10 and write the numbers.

16. : , 30, : : : : : 100

17. There are seven children in the family. Two have eaten lunch.
How many more children need to eat?

18. Abby wanted nine rubber ducks in her wading pool.
She put in five ducks, and her friend put in two ducks.
How many ducks are in the pool so far?

How many more ducks must Abby put in the pool to make
nine ducks in all?
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APPLICATION AND ENRICHMENT

Start at 100 and connect the dots by counting backward by ten.

30 100

40 o e 90

50 80

60 Py, | 70
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APPLICATION AND ENRICHMENT 9G

Color the picture.

If the answer is 12, color the space black.
If the answer is 13, color the space yellow.
If the answer is 14, color the space red.

If the answer is 15, color the space green.

If the answer is 16, leave the space white.
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